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Object 241 J,,,= H,,,=24.59
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 242 J,,,= H,,,=24.60
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 243 J,;;= Hy4,,=24.63
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8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Object 244 J,,,= H,,,=24.64
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8.0°10°

1.0+10%

1.2.10%

1.4+10%

1.6+10%

Wavelength (A)

Wavelength (A)
Object 245 J,,,= H,,,=24.76
8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 246 J,;,= Hy4,,=24.96
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8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*



